REFIPAER-RES B TS
A B = IR TR
M B UL v | Ly v AR 1 BT T

KOZz+ UNEILR
NG SR
Tal— T =T —H
iz G [Z5] a— 24
FFDOAR AT n=ha-2
F5k wno B (%550 ] Y 1358m
T4 = o Hi R 1213m
MEEER a7 [Z5] 2 145m
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ISR - A - e —BA (57 5] ISR - A - e —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TR 20(19) A A — IR 9:55 M % 20(19) 2 — IR 11:25
KA i 8 N— R KA i = N— R
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
NEAT AF=h -h B 14AH 2KRH & #H L—Xx
No No K% B 4 1 L | H%E ] AA b
1 2 1032100 [LUA& #E BH4ES 43.08 43.01 1:26.09 0.00
2 1 1028044 Tk #H — 54 .57 50.78 1:45.35 225.96
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



REFIPAER-RES B TS
A B = IR TR
M B UL v | Ly v AR 1 BT T

2023-01-05 / REHIFE D X PR X —

KO %+ UNEILR
NG SR
D — T = HNT—H
iz G [Z5] a— 24
FFDOAR AT n=ha-2
F5k wno B (%550 ] Y 1358m
T4 = o Hi R 1213m
MEEER a7 [Z5] 2 145m
AREBTHS— 3 No. SAJ05-SL-120/01
1A4H 2K H
a— Ry H— wlE HE [Z5] a— 2y K — g R [ZH]
ISR - A - e —BA (57 5] ISR - A - e —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TR 20(19) A A — IR 9:55 M % 20(19) 2 — IR 11:25
KA i 8 N— R KA i = N— K
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
NEAT AF=h -h B 1AH 2KRH & #H L—Xx
No No K4 B 4 1 L | Héﬁ ] AA b
1 3 1031913 A% # BH4ESC 45.25 4258 1:27.83 0.00
2 4 1050768 HAT YA =N AUN 51.05 47.33 1:38.38 121.32
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



REFIPAER-RES B TS
A B = IR TR
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T 4= a s 1213m
MEEER a7 [Z5] 2 145m
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1A4H 2K H
a— Ry H— wlE HE [Z5] a— 2y K — =E fe [ZH]
ISR - A - R —BA (57 5] ISR - A - R —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TR 20(19) A A — IR 9:55 M % 20(19) 2 — IR 11:25
KA i 8 N— R KA i = N— K
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
NEAE Ag=h -h B 1AH 2KRH & #H L—Xx
No No K4 B 4 1 L | Héf ] AA b
DID NOT START [1st RUN] 1
5 1022092 AEF H{E —'g
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



REFIPAER-RES B TS
A B = IR TR
M B UL v | Ly v AR 1 BT T
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MEEER a7 [Z5] 2 145m
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a— Ry H— wlE HE [Z5] a— 2y K — g R [ZH]
ISR - A - e —BA (57 5] ISR - A - e —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TR 20(19) A A — IR 9:55 M % 20(19) 2 — IR 11:25
KA i 8 N— R KA i = N— R
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
NEAT AF=h -h B 1AH 2KRH & #H L—Xx
No No K% B 4 1 L | H%E ] AA b
1 8 1012345 &N HEF AT wva 32.57 33.75 1:06.32 0.00
2 6 1039537 /N IEBL BH&ESC 36.58 37.64 1:14.22 120.31
3 7 1027132 EHHE FEE AT A 41.05 39.60 1:20.65 218.23
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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T4 =y v 2 LS 1213m
M EE R a7 (%550 ] o0 145m
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a—Rt v H— wlE HE (3 50] a—RA X — g R (%550 ]
AiEH - A - o — (57 B ] AiEH - A - o — [l B ]
AiE# - B - EF TF (57 B ] AiE# - B - EF TF (57 B ]
ISR - C - N (57 B ] AiE#H - C - AN [l B ]
AiE#H - D - W Gl [l B ] AiE# - D - Wi Gl [l B ]
TR 20(19) A A — IR 9:55 M % 20(19) 2 — IR 11:25
KA i =Yg N— R KA HAL =8 N— R
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
JIEAE Ap=] -b EEHEE 1AH 2KRH & #H L—Xx
No No K4 B 4 BE M FF RS H%E il AA b
1 11 1008653 ik HiE R 30.63 31.28 1:01.91 0.00
2 12 1031359 JNjE g i 32.03 32.48 1:04.51 42 42
3 10 1006782 M EE{EE I 32.98 32.79 1:05.77 62.97
4 9 986924 #ikE fnzE KA L 32.65 3424 1:06.89 81.24
5 14 1012420 4% fEpyE Bt 34.67 35.07 1:09.74 127.74
6 15 1051834 £ B plakee] 36.32 36.63 1:12.95 180.11
7 16 1048586 HiiMH ZEE EIGE 36.09 38.03 1:14.12 199.19
DID NOT START [1st RUN] 1
13 1002605 FB #E — B A ER
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



REFRFAF-RKES MR TES
A B = FBHIR TR
Mz B W o (L e PR HTIT T

Hhe A -
F=1010
NEAT AF=h -h B 14AH 2KRH & #H L—2Xx
No No K4 Fr B 4 B R BF M K M OAA b
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2023-01-05 / REFIFE DO X FER X —3 G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



EEFEAER-RE FMRTIES

A B = IR TR
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F5k wno B (%550 ] Y 1358m
T 4= a s 1213m
MEEER a7 [Z5] 2 145m
AREBTHS— 3 No. SAJ05-SL-120/01
1A4H 2K H
a— Ry H— wlE HE [Z5] a— 2y K — g R [ZH]
ISR - A - R —BA (57 5] ISR - A - R —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TP % 20(19) 2K — R 9:55 M % 20(19) 2K — R 11:25
KA i 8 /N— R KA i = N— K
AF—bF/T 4=y a R -5.8C / -4.0C AF—bF/T 4=y a R -1C / 0°C
F=1010
NEAE Ag=h -h B 1AH 2KRH & #H L—Xx
No No K4 B 4 1 L | Héf ] AA b
1 17 1020378 A% ik P L 30.29 30.66 1:00.95 0.00
2 19 992476 fEE ==/ BEH 30.68 30.95 1:01.63 11.27
3 18 1031078 /A B EmACE 31.35 31.26 1:02.61 27.51
4 20 1009693  KEFH: K— W [ 31.18 32.24 1:03.42 40.93
5 21 997065 FEA B Ry A b e 32.31 32.02 1:04.33 56.01
6 22 1021504 D BRAE BRFH 32.79 32.96 1:05.75 79.54
7 23 1050696 HkF (R4 A 40.09 40.73 1:20.82 329.26
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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thaf Az B -
F=1010
NEAT AF=h -h B 14AH 2KRH & #H L—2Xx
No No K4 Fr B 4 B R BF M K M OAA b
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2023-01-05 / REFIFE DO X FER X —3 G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO
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M B UL v | Ly v AR 1 BT T

R A L+ UNEILR
NG SR
Tal— T =T —H
iz G (3 50] a— 24
FFDOARFEATu=ha-2
F5k wno B (%550 ] — b Hh 1358m
T4 =y o HiS 1213m
M EE R a7 (3 50] o 145m
AREB A — 3 No. SAJ05-SL-120/01
1A4H 2 A H
a—Rt v H— wmE FHE (& 51] a—RA X — =E fe (3 50]
ISR - A - R —BA (57 5] ISR - A - R —BA L2=N
ISR - B - EF TF 52N ISR - B - EF TF 52N
ISR - C - JNEOER 52N ISR - C - JNEOER 52=N
ISR - D - W Gl (R B ] ISR - D - Wi Gl (R B ]
TR 20(19) 2K — R 9:55 M % 20(19) 2 — IR 11:25
KA i 8 /N— R KA i = N— K
AR —KN/"T 4=y aRIR -5.8C / -4.0C AR —N/"T 4=y aRIR -1°C / 0°C
F=1010
ERE  Ah=h -h B 1AH 2KRH & #H L—Xx
No No K4 B 4 BE M FF RS H%E B AA b
1 27 1004650 JNiE BE KK 32.33 33.06 1:05.39 0.00
2 25 992663 FH HH 44 & TR 33.23 33.33  1:06.56 18.07
3 26 976172 A#F 4 H ok 33.70 34.82 1:08.52 48.35
4 29 981130 AR B0 [t 5 34.01 3462 1:08.63 50.04
5 28 1009692 JNjE  BREE R 33.90 3496 1:08.86 53.60
6 30 1007595 ¥k H4& T AL ON i) 34.38 3519 1:09.57 64.56
7 31 1020730 Ak 1FoO» 2N, 36.61 37.30 1:13.91 131.60
8 32 1006006 AIF Wby yisin 37.51 38.50 1:16.01 164.03
9 33 1006005 A& H yisin 38.56 38.20 1:16.76 175.62
10 35 1039374 ®i"F  CHFR 44 3 R B 44.42 4560 1:30.02 380.43
11 36 1039230 #fk WJh4E 44 3 R B 46.61 4440 1:31.01 395.72
12 39 1049534 {lH =) 44 3 R B 47.06 46.40 1:33.46 433.56
13 37 1048963 =MW mEH 44 3 R B 49.92 4867 1:38.59 512.80
14 40 1048375 JR¥#P BEE 44 3 R B 53.41 46.44 1:39.85 532.26
15 38 1039163 K& &1 44 3 R B 1:00.65 5419 1:54.84 763.79
2023-01-05 / REFIFE DO X FER X —3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



REFIPAER-RES B TS
A B = IR TR
M B UL v | Ly v AR 1 BT T

2023-01-05 / REFIFE DO X FER X —3

A -
F=1010
NEAT AF=h -h B - 14AH 2KRH & #H L—2Xx
No No K4 B Be R B R B B A1 b
DID NOT START [1st RUN] 1
41 1049492 HH ET X PN
DID NOT FINISH [1st RUN] 1
24 1033046 F 1L EE3E Zak bt
DISQUALIFIED [1st RUN] 1
34991290 il Y =R GATE No. 19 , M@ 7 imiE
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SETKO
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M B UL v | Ly v AR 1 BT T

R A R PNEIL
NG SR
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FFDOARFEATu=ha-2
F5k wno B (%550 ] Y 1358m
T4 =y v a R 1213m
M EE R a7 (3 50] o0 145m
AREB A — 3 No. SAJ05-SL-120/01
1AH 2 A H
a—Rt v H— wlE HE (3 50] a—2k .y H— g R (%550 ]
AiEH - A - o — (57 B ] AiEH - A - o — [l B ]
AiE# - B - EF TF (57 B ] AiE# - B - EF TF (57 B ]
ISR - C - JNEOER (57 B ] AiE#H - C - AN [l B ]
AiE#H - D - W Gl [l B ] AiE# - D - Wi Gl [l B ]
TR 20(19) 2K — R 9:55 M % 20(19) 2 — IR 11:25
KA i =Yg N— R KA HAL =8 N— R
AR —KN/"T 4=y aRIR -5.8C / -4.0C AR —N/"T 4=y aRIR -1°C / 0°C
F=1010
ERE  Ah=h -h B 1AH 2KRH & #H L—Xx
No No K% B 4 BE M FF RS E%E &A1 b
1 44 1031077 /A OHRSF fi I} AL 31.58 31.18 1:02.76 0.00
2 47 1004563 W BRKER B 31.73 31.35 1:03.08 5.15
3 42 1006610 jhy A5 s 31.55 31.80 1:03.35 9.49
4 48 1036039 ~r=—/ M7 2 R [ B 31.64 31.81 1:03.45 11.10
5 43 992478 M & 4475 31.44 32.59 1:04.03 20.44
6 45 1007395 [LUA  # - 33.67 3458 1:08.25 88.35
7 49 1040919 {FE  EBIK X PN i) 38.68 3764 1:16.32 218.22
8 53 1049932 A 9A P2 PN 38.90 38.27 1:17.17 231.90
9 54 1048920 KK HE 4 3 R B 39.64 39.32 1:18.96 260.71
10 57 1049450 Bl RE 4 3 R B 41.68 39.93 1:21.61 303.35
11 50 1040914 DUjE  HEHk 4 3 R B 41.55 40.24 1:21.79 306.25
12 52 1039543 KEF #&mE 4 3 R B 41.45 4169 1:23.14 327.98
13 56 1049216 EEF KEIER 4 3 R B 45.03 46.04 1:31.07 455.59
DID NOT START [1st RUN] 4
2023-01-05 / REHIFE D X PR X — G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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No No K4

46 1048835 ks B3t
51 1039905 KHE A
55 1049692 &)l EK

58 1048616 T HE

~

DID NOT FINISH
DISQUALIFIED

DID NOT START
DID NOT FINISH

DISQUALIFIED

[1st RUN]
[1st RUN]
[2nd RUN]
[2nd RUN]

[2nd RUN]

2023-01-05 / REFIFE DO X FER X —3
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